BUSE A

1002

2023.08%#

LARUVI RV as1) NBK® EroN’

LEVELLING SCREWS  No.E-9654

(# #IBT. LBTN:S45C LBTS. LBNS:SUS303
(BMLE ] LBTN : SE8#EBEA. HRC50-60
LBT. LBTN: Zw& LIOLXyF
Fwh (LBTN) : 3 ffiyOx—hxXw+
(ffm& ) LBTN. LBNS: Fwh
OLEHNHERRL TR, LRUY I FU—hEDFRERE
A BERICEUET,

\>

G —
] Im /f\
\ [H \“/
E C D F
B
e e R EES * IR
F—5—No.| No. AGEE) B c D E F G IR mmg | s
%946300 | LBT-A16 | M16X1.5 100 80 10 10 21 SR 7 = 145 150 1,010
% 946301 | LBT-A20 | M20x1.5 100 80 10 10 24 SR9 = 233 250 1,180
%946302 | LBT-A24 | M24x15. 103 =~ 80 . 13 . 10 . 27 . SR10 = 347 = 350 1,410

A
G /
| Im /}\
NI [ U
E C D F
B
D tnws il e * [EEAEER
F-5—No.| No. | AGE) B c D E F G FEEE mmg | i
% 946303 | LBTS-A16 | M16x1.5. 100 - 80 10 . 10 21 SR 7 145 150 | 2,760
% 946304 | LBTS-A20 | M20X1.5° 100 = 80 - 10 - 10 24 SR 9 | 233 . 250 | 2,680
% 946305 |LBTS-A24 | M24x15° 103 © 80 - 13 - 10 - 27  SR10 347 ¢ 350 3,350

C

B
Dl RiEES * [EEITER
F—5—No.|  No. AGRE) B c D E F G W FEEE e | mi
% 946306 | LBTN-A12 | M12x1.75. 136 = 120 = 10 . 6 18 9 SR10 . 7.2 100 | 1,600
% 946307 | LBTN-A16 |M16x2 136 ~ 120 = 10 = 6 21 13 SR14 - 135 = 200 | 1,750
% 946308 | LBTN-A20 | M20X2.5 : 1365 120 = 10 : 65 : 24 © 16 - SR17 © 21.1 @ 300 | 2,030

A
H [
o im| m
S [ 1
E C D,
B
D s il e * [EEIEER
F—5—No.|  No. AWE) B c ) E F G W FEEE mme | @i
% 946309 | LBNS-A12 | M12x1.75 136 = 120 = 10 . 6 18 9 SR10 . 72 = 100 | 2910
%946310 | LBNS-A16 |M16x2 136 120 = 10 = 6 21 13 SR14 = 135 = 200 | 3,280
% 946311 | LBNS-A20 | M20X2.5 : 1365 120 © 10 : 65 : 24 © 16 - SR17 : 21.1 @ 300 | 3,810

INCI
CADF—9590—K - EERAE Web U hT! [ FAP | NABEVYA co. 1.

2023.7.21






